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B.B.A. (Part-II) Eramination

(204) COST ACCOUNTING

Paper-IV
'l imc : Three Hou6l [Maximum lvlarks

Note : (i) Solve ALL questions.

(2) Figures to the righi indicate marks.

l. (a) Define Cost Accounting.
(b) trxplain lhe objecrs of Cost Accounting.
(c) Detemine the uses of Cost Acqounting.
(d) Calculate [nventory Turnover from the following information :

Units
Maximurn stock 9.000

Order level 3.000

llinimum stock level 1,200

Re order quantit)' 7,800

.\-ormal consumption 300 per day

OR
Explain various cost concepts.
State the functional classification of overheads.

Discuss thg importance of direct expenses.

With the help of the following particuiars prepare Storcs Account showing
materials on the basis of t,ast in First out :

Purcha!es
August -1, 200.1 750 kg @ Rs. 2.00

Augusl 18. 2004 350 kg @ Rs. 2.10

August 25, 2004 600 kg a@ Rs. 2.20

August 28, 2004 500 kg a@ Rs. 2.30

Issu€s

August 19, 2004 850 kg

August 26, 2004 450 kg

August 29, 2004 510 kg

August 30, 200.1 150 k-q
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2. Ihe Cost Aecounts of a l\{anulacturiog Co. prolides the follouing inform.rtion

Purchase 01- raw material

Rent, rates and works oncost

Carriagc in'ward

Direct uagcs

Stock opening :

Raw material

Finished prodr,rcts (1000 ton)

Wbrk-in-progrcss

Stock closing :

Ra* material

Finished protluct (2000 ton)

\!brk-in-progress

Sale of finished goods

Cost ol lactor]' supcn'ision

Royalt)''

Printing and stationery (factory)

Office poNer

\\'arehousc rent

\\hstagc ol malerial

Cost of research and experimcnls

AdvefiisiIlg discount allorved and sclling cost are Re

rlere produced during the period.

OR

Rs.

1,20,000

40.000

1,4,10

1,00.000

20,000

16,000

,1.800
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i2,000

16,000

3,00,000

3,000

6,000

500

r,000

-i,000

400

10,000

16000 tons ofcommodity
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The information given below is extracted lrom books of a factory producing a commodity

in thc manufacture of which three processcs are involved. Prepare Process Cost Accounts

sho[ing the cost of outpul and the cost per unit at each stagc of manufacture.

Process

123

Direct wagcs

1\{achine expenses

Factory oncost

Ra!\ material consumed

Production (Gross)

Waslage

Stock l" April 2014

Stock 31" March 2015

210

250

440

200

500

100

Rs.

7,500

1,200

3,3 00

24,000

Units
) 7;O

150

lls.

1s,000

1,600

4,650

t nits

Rs.

r9.500
j,600

2,'700

Units

t6

Calculate Labour variances from the following information

Standard rime 4 hours per unit

Standard rate Rs. 5 per hour

Actual production 1,500 units

Hours Taken Production 6,200

ldle time 200

Total 6,400
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Payment of Rs. 31,360 $as made (@ 4.90 per hour.

Calculate:

(a) Labour Cost lhriance

(b) Labour Rate of variance

(c) Labour Efficiency l'ariance

(d) Labour Idle Time Variance,

OR
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Discuss rhe advantages of Standard Costing. l
Explain brietly the variances uscd in Standard Costing. 4

Describe lhe managerial use of,,'ariance analvsis. '1

What do !'ou mear by variance 'l 1

What arc thc limitations of absorption costing ? 4

Write the advantages of variable costing. 1

lhe cost of production of 5,000 unils is giv.n belo$ :

Nlaterials 40,000

[-abour 20-000

Overheads 10,000 (60% fixcd)

F'ind out the marginal cost in tolal and per unit. .1

ln two periods total costs amounl ro Rs..10,000 and Rs. 50.000 against produclion 01-

15,000 unjts and 20,000 units respecti,'ely. How much is marginal cosl pcr unit and

ho\.\ much is fixed cost'l 1

OR

Dcllnc concept of Decision Making. 1

\\/hat is meant by contribution margin ? 4

Delinc rariablc cost and lixed cosl. 4

A cLrmp.Lny has capacitl of producing 1,00.000 
'rnits 

ofa cefialn product in a month.

1he sales department reports that thc lollowing schedule of selling price is possible.

Volume of production Selliog Price per unit

60% 0.90

70% 0.80

80% 0.15

9Q% 0.67

100% 0.61

lhe variable costs manuf'acturc bctrvccn thcsc levels are 0.15 per unit and fixed costs

Rs. 10,000. Al \\'hat volume (level) of production $'i11 the profit bc rnaximum 'l ,l
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,i Follo\r.ing information are available :

Year Sales Profit/Loss

2010 10.00.000 +50,000

2011 6.00,000 -10.000

Calculate:

(i) B.E.P

(ii) Ivlargin of sality in 2010.

(iii) Profit when sales are Rs. 15.00.000.

(i\') Sales to earn profit Rs. 1,00.000. 16

OR

The P,Y Ratio of Rashmi Ltd. is 50% and the margin of safety is 407u. You are required

to work out the Break-Even-Poiot and the Nct Profit if the sales volume is Rs. 10,00,000.
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